Tuesday 12.05.2020
Fluent in Five
1. 2,807 + ____ = 4,000 
2. 999 – 50 = 
3. [bookmark: _GoBack]57 x 100 = 
4. 57 x 10 = 
5. 890 ÷ 100 =
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
[image: ]Maths Task
Today we are looking at multiplying numbers by 1 and 0.
REMEMBER!
Multiplying a number by 1 means you have one lot of that number, so the answer is the same as the number you are multiplying by 1. For example: 
7 x 1 = 7
1 x 12 = 12
Any number multiplied by 0 is 0.
2 x 0 = 0
0 x 9 = 0
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Challenge 1
1

Complte the calcultion shown by the Numicon.
0O00000 Thereare__ones.  __x_=__

B thereis s _x_=_
2

Complete the sentences.

There are _plates.
There is _banana on each plate.

bananas. x_=

Challenge 2

[Which answer could be the odd one out?
[What makes it the odd one out?

3, Aliogether there are

Complete:

x4 ,
O

Explain why the answer is different.
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Challenge 3

Circle the incorrect calculations and write them
out correctly.

5x0=50

7%0=7 19x1=19

1x1=2  0x35=0

0x0=1 1x8=9





